HERZICGCG MO £330 ASTH D1 180

PRODUKTEEZE I CHNUNEG D INMG O FARPSS
PRODUKTMUMMER : Z .1 2002
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5 DICHTE ( 70 € } kg/m3 : @328
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12.5 EE £3.9 id.oe 157.8 2.6 ABS NEIM

ml/min ABS MEIN

5 i06.1  10.09  235.4  171.0 ABS NETN
10 150.8  i0.11  289.8 © 209.6 D
15 187.0  10.08  33\.5  234.5 : AES NEIN
20 216.3 10.13 7.7 D0h e T
75 233.2  10.09  387.4  242.9 ABS MEIH
30 0.9 20.40  AO3E 2 e
s 256.8  10.08  414.8 2784 AES HETHN
40 264.1  10.10  473.1  283.4 R -

45 270.2  10.10  430.1 789.% AES ME.IN
50 275.8  10.t1  434.5  294.5  ——mem——meee S
55 811 1B.it 44%.6 3003 ABS ETH
&l 287. 10.11 4483 0L A emmmee—— T
&3 293.7  10.1%  454.%  312.€  KAELTEFALLENTEMP. FEHLERHAFT

70 J01.6  18.10  465.9  3P1.7  MILLILITERZAML STEIST NICHT

75 2.8 10.48 . 475.1 332.3

80 3.1 i0.11 4B7.8  343.3

a5 334 10.10  S01.8  357.4

o0 3s0.1 10.14  520.0 379.9

SUMFFTEMPERATUR 400 €
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